Tangipahoa Parish Council Tangipahoa Parish Gordon A Burgess Governmental Building 206 East Mulberry Street, Amite, LA 70422 Regular Meeting Immediately Following Public Hearing July 25, 2022

<u>PUBLIC HEARING</u> - Notice Is Hereby Given That a Public Hearing Will Be Held by The Tangipahoa Parish Council on July 25, 2022 at 5:30 PM at the Tangipahoa Parish Gordon A Burgess Governmental Building, 206 East Mulberry Street, Amite, Louisiana, 70422, contact number (985) 748-3211 on the following:

- T.P. Ordinance No. 22-36 An Ordinance to adopt the Millage Rates for the Tax Year of 2022
- T.P. Ordinance No. 22-37 An Ordinance amending T.P. Ordinance 22-17, Chapter 36-Planning and Development, Article V, Section 36-113, Item (f), Number (1)
- T.P. Ordinance No. 22-38 An Ordinance reducing the speed limit to 15mph on Robinwood Drive in District 6

CALL TO ORDER

CELL PHONES - Please Mute or Turn Off

INVOCATION

<u>PLEDGE OF ALLEGIANCE</u> (All Veterans and active military, please render the proper salute)

ROLL CALL

ADOPTION OF MINUTES of regular meeting dated July 11, 2022

PUBLIC INPUT - Anyone Wishing to Address Agenda Items Which Were Not on Public Hearing

PARISH PRESIDENT'S REPORT

- 1. FINANCIAL REPORT
- 2. APPROVAL OF CHANGE ORDER #2 Velma Sewer System Improvements
- 3. APPROVAL OF FINAL ACCEPTANCE OF WORK Velma Sewer System Improvements
- 4. APPROVAL TO SEEK BIDS for (2) 12 Gauge Corrugated Metal Pipe measuring 108" x 40'

REGULAR BUSINESS

- 5. ADOPTION of T.P. Ordinance No. 22-36 An Ordinance to adopt the Millage Rates for the Tax Year of 2022
- 6. ADOPTION of T.P. Ordinance No. 22-37 An Ordinance amending T.P. Ordinance 22-17, Chapter 36-Planning and Development, Article V, Section 36-113, Item (f), Number (1)
- 7. ADOPTION of T.P. Ordinance No. 22-38 An Ordinance reducing the speed limit to 15mph on Robinwood Drive in District 6

INTRODUCTION OF ORDINANCES

- 8. INTRODUCTION of T.P. Ordinance No. 22-39 An Ordinance placing 20mph Speed Limit signs on McCahill Lane in District 10
- 9. INTRODUCTION of T.P. Ordinance No. 22-40 An Ordinance placing 35mph Speed Limit signs on Pleasant Ridge Road Extension in District 8
- 10. INTRODUCTION of T.P. Ordinance No. 22-41 An Ordinance placing 35mph Speed Limit signs on DePhillips Road in District 2
- 11. INTRODUCTION of T.P. Ordinance No. 22-42 An Ordinance placing No Truck Route and No Trucks Beyond This Point signs on W Fontana Rd at the gravel pit to E Evans Rd in District 4

ADOPTION of T.P. Resolution No. R22-16 - A Resolution stating the Tangipahoa Parish Council-President Government endorses Intralox, LLC (Project #2022-0224-QJ) to participate in the benefits of the Louisiana Quality Jobs Program

- 13. MOSQUITO ABATEMENT DISTRICT 1 BOARD New Appointment Craig Inman (City of Hammond) 1st term expiring July 2025
- 14. MOSQUITO ABATEMENT DISTRICT 1 BOARD Re-appointment James Wolf (City of Ponchatoula) 2nd term expiring July 2025

BEER, WINE, AND LIQUOR PERMITS

LEGAL MATTERS

COUNCILMEN'S PRIVILEGES

ADJOURN

Jill DeSouge Daily Star

Clerk of Council Please Publish July 21, 2022

<u>Published on Tangipahoa Parish Government website at www.tangipahoa.org</u> and posted @ T.P. Gordon A. Burgess <u>Governmental Building July 21, 2022</u>

In Accordance with the Americans with Disabilities Act, If You Need Special Assistance, please contact Jill DeSouge at <u>985-748-2290</u> describing the Assistance that is necessary.

Change Order TWO (2) Final WORKSHEET

Quantity *	Unit Price				ChgOrd2)		8
	<u>Offilit Pffice</u>	<u>Extension</u>	AS-BUILT	DECREASE		Decrease	Increase
1 EA	35,000.00	\$ 35,000.00	1 EA			\$ -	\$ -
1 EA	87,500.00	87,500.00	1 EA			_	-
2,056 LF	60.00	123,360.00	2,004 LF	52		3.120.00	_
5,467 LF	40.00	218,680.00	5,047 LF	420			
254 LF	20.00	5,080.00	515 LF	College and Security	261		5,220.00
1,840 LF	15.00	27,600.00	1,836 LF	4			- 0,220.00
1,980 LF	45.00	89,100.00	1,870 LF				-
98 EA	600.00	58,800.00	95 EA	3			
27 EA	3,000.00	81,000.00	27 EA				-
2,350 LF	9.00	21,150.00	2,350 LF			_	_
3 EA	1,250.00	3,750.00	3 EA			_	-
12.4 VF	1,000.00	12,400.00	12.4 VF			_	_
1 EA	70,000.00	70,000.00	1 EA				-
1 EA	1,000.00	1,000.00	1 EA			_	
80 LF	50.00	4,000.00	80 LF			_	
1 EA	14,500.00	14,500.00	1 EA				
2 EA	28,500.00	57,000.00	2 EA			_	
620 LF	10.00	6,200.00				_	-
700.0 TN	45.00	31,500.00		48.48		2 181 60	_
530.0 SY	90.00	47,700.00					
450.0 SY	75.00	33,750.00					
10.0 CY	200.00	2,000.00	0.0 CY				
4,500 LF	20.00	90,000.00			1.252		25,040.00
72 EA	600.00	43,200.00	60 EA	12	.,===		20,040.00
	10,429.88		1 EA		1	1,200.00	10,429.88
Contract Amount	+ ChgOrd#1:	\$ 1,164,270.00					10,120.00
		,		Change in C	ontract Price:	\$ (88.391.60)	\$ 40,689.88
Per Chg Ord 1			Chg. C				,,555.56
			-	Current C	Contract Amt.:		
			FIN				
	2,056 LF 5,467 LF 254 LF 1,840 LF 1,980 LF 98 EA 27 EA 2,350 LF 3 EA 12.4 VF 1 EA 1 EA 2 EA 620 LF 700.0 TN 530.0 SY 450.0 SY 4,500 LF 72 EA	2,056 LF 60.00 5,467 LF 40.00 254 LF 20.00 1,840 LF 15.00 1,980 LF 45.00 98 EA 600.00 27 EA 3,000.00 2,350 LF 9.00 3 EA 1,250.00 12.4 VF 1,000.00 1 EA 70,000.00 1 EA 70,000.00 1 EA 14,500.00 2 EA 28,500.00 620 LF 10.00 700.0 TN 45.00 530.0 SY 90.00 450.0 SY 75.00 10.0 CY 200.00 4,500 LF 20.00 72 EA 600.00 72 EA 600.00 10,429.88	2,056 LF 60.00 123,360.00 5,467 LF 40.00 218,680.00 254 LF 20.00 5,080.00 1,840 LF 15.00 27,600.00 1,980 LF 45.00 89,100.00 98 EA 600.00 58,800.00 2,7 EA 3,000.00 81,000.00 2,350 LF 9.00 21,150.00 3 EA 1,250.00 3,750.00 12.4 VF 1,000.00 12,400.00 1 EA 70,000.00 70,000.00 1 EA 1,000.00 1,000.00 80 LF 50.00 4,000.00 1 EA 14,500.00 14,500.00 2 EA 28,500.00 57,000.00 620 LF 10.00 6,200.00 700.0 TN 45.00 31,500.00 450.0 SY 75.00 33,750.00 10.0 CY 200.00 2,000.00 4,500 LF 20.00 90,000.00 72 EA 600.00 43,200.00 72 EA 600.00 43,200.00	2,056 LF 60.00 123,360.00 2,004 LF 5,467 LF 40.00 218,680.00 5,047 LF 254 LF 20.00 5,080.00 515 LF 1,840 LF 15.00 27,600.00 1,836 LF 1,980 LF 45.00 89,100.00 1,870 LF 98 EA 600.00 58,800.00 95 EA 27 EA 3,000.00 81,000.00 27 EA 2,350 LF 9.00 21,150.00 2,350 LF 3 EA 1,250.00 3,750.00 3 EA 12.4 VF 1,000.00 12,400.00 12.4 VF 1 EA 70,000.00 70,000.00 1 EA 80 LF 50.00 4,000.00 80 LF 1 EA 14,500.00 14,500.00 1 EA 80 LF 50.00 4,000.00 620 LF 700.0 TN 45.00 31,500.00 620 LF 700.0 TN 45.00 31,500.00 651.52 TN 530.0 SY 90.00 47,700.00 138.0 SY 450.0 SY 75.00 33,750.00 250.0 SY 10.0 CY 200.00 2,000.00 60 EA 10,429.88 1 EA Contract Amount + ChgOrd#1: \$1,164,270.00	2,056 LF 60.00 123,360.00 2,004 LF 52 5,467 LF 40.00 218,680.00 5,047 LF 420 254 LF 20.00 5,080.00 515 LF 1,840 LF 15.00 27,600.00 1,836 LF 4 1,980 LF 45.00 89,100.00 1,870 LF 110 98 EA 600.00 58,800.00 95 EA 3 27 EA 3,000.00 81,000.00 27 EA 2,350 LF 9.00 21,150.00 2,350 LF 3 EA 1,250.00 3,750.00 3 EA 12.4 VF 1,000.00 12,400.00 12.4 VF 1 EA 70,000.00 70,000.00 1 EA 80 LF 50.00 4,000.00 80 LF 1 EA 14,500.00 14,500.00 1 EA 80 LF 50.00 4,000.00 2 EA 620 LF 10.00 6,200.00 620 LF 700.0 TN 45.00 31,500.00 651.52 TN 48.48 530.0 SY 90.00 47,700.00 138.0 SY 392.0 450.0 SY 75.00 33,750.00 250.0 SY 200.0 10.0 CY 200.00 90,000.00 5,752 LF 72 EA 600.00 43,200.00 60 EA 12 10,429.88 1EA Contract Amount + ChgOrd#1: \$1,164,270.00 Change in C	2,056 LF 60.00 123,360.00 2,004 LF 52 5,467 LF 40.00 218,680.00 5,047 LF 420	2,056 LF

Sewer System Improvements - Velma -

State Contract No.

2000524915

FY2020 LCDBG

from the plans and specifications

DECREASE

INCREASE

8

3,120.00

4

16,800.00

PROJECT:

DATE: Approved: Accepted: Recommended: is therefore The contract time shall be INCREASED by total adjusted price to date is therefore The sum of contract will apply thereto This document shall become an amendment to the contract dated July 6, 2021, and all provisions of the Adjustment of contract quantities to Final/In-place Quantities: State Contract Number: OWNER: TO CONTRACTOR: Culvert materials supplied by Contractor ITEM NUMBER "23." "19." "24." Decr. Abandon/Bypass Septic Tk to 60 EA [-12 EA @ \$600/EA] "21." Decrease R/R Driveways to 250.0 SY [-200.0 SY @ \$75/SY] "20." Decrease R/R Street Pvmt to 138.0 SY [-392.0 SY @ \$90/SY] "7." Decrease J&B Sewer lines to 1.870 LF [-110 LF @ \$45/LF]
"8." Decrease SS Wyes+Cleanouts to 95 EA [-3 EA @ \$600/EA]
19." Decrease LIMESTONE to 651.52 TN [-48.48 TN @ \$45/TN] "4." Decrease 8" SS Mains to 5,047 LF [-420LF @ \$40.00 per LF] "6." Decrease 4" SS Svc. Lines to 1,836 LF [-4 LF @ \$15.00/LF] Delete Flowable Fill [-10.0 CY @ \$200.00 per CY]
Increase 4"/6" SS Svc to 5,752 LF [+1,252 LF @ \$20 per LF Decrease 12" SS Mains to 2,004LF [-52LF @ \$60/LF] Furnish Driveway Culverts removed during installation Increase 6" SS Svc Lines to 515LF [+261 LF @ \$20.00 per LF] of new SS Mains and Services (per attached list) You are hereby requested to comply with the following changes Mitchell Contracting, 25 July 2022 Tangipahoa Parish Government 29-Aug-2022 (47,701.72) is hereby **DEDUCTED FROM** the original contract price and the 2000524915 CHANGE IN CONTRACT PRICE: NET CHANGE - DECREASE: DESCRIPTION $\ddot{\mathbf{C}}$ CONTRACTOR Spangler, Jr., P.E. Inc. 1,116,568.28 Zero (0)

15,000.00 35,280.00

2

,181.60

1,800.00

4,950.00

60.00

,220.00

2,000.00

,200.00

25

,040.00

€

(88,391.60) (47,701.72)

3

40,689.88

6

,429.88

Approved:

Robby Miller, PARISH PRESIDENT

Date:

Office of Community Development

Date:

Date:

Date:

calendar days.

The completion date

Driveway Location *	Diam./Type	Unit Price	Length		Matl. Cost	Sales Tax	Total Matl. Cost
55478 Mandella	15" CMP	\$ 33.25	20 L	.F	\$ 665.00	\$ 66.17	\$ 731.17
55375 Mandella	15" CMP	33.25	20 L	.F	665.00	63.18	728.18
55323 Mandella	15" CMP	33.25	20 L	.F	665.00	63.18	728.18
Finch Lane X-drain	18" CMPA	46.00	40 L	F	1,840.00	174.80	2,014.80
55303 Mandella	15" CMP	33.25	20 L	.F	665.00	63.18	728.18
55229 Mandella	18" CMP	42.00	40 L	F	1,680.00	159.60	1,839.60
55205 Mandella	18" CMP	42.00	20 L	F	840.00	79.80	919.80
55199 Mandella	15" CMP	33.25	20 L	_F	665.00	63.18	728.18
C. G. Whitaker X-drain	18" CMPA	46.00	40 L	_F	1,840.00	174.80	2,014.80
		TOTALS:	240 L	_F	\$ 9,525.00	\$ 904.88	\$ 10,429.88

^{*} Installation of culverts included in unit price bid for item "2."; culverts that were initially to be provided to the contractor by TPG were unavailable. Contractor purchased above culverts to backfill driveways and return access after installation of 12" SS Main (Mandella).

NOTICE BY OWNER OF ACCEPTANCE OF WORK

TO WHOM IT MAY CONCERN: and especially all subcontractors, workmen, laborers, mechanics, and furnishers of materials.

Public notice is hereby given, according to law that the undersigned Owner has accepted the work done by ___MITCHELL CONTRACTING, Incorporated_, Contractor, under his contract with him of __July 6, 2021_, and recorded in MOB _3080_, Page _564_, of the Mortgage Records of the Parish of Tangipahoa.

All subcontractors, workmen, laborers, mechanics, and furnishers of materials must assert whatever claims they may have against the said contractor, growing out of execution of said contract, according to law, within forty-five (45) days from the registration hereof.

DATE:	July 25, 2022	Amite, LA
PROJECT:	Velma SEWER SYSTEM IMPROVEMENTS	[FY-2020 LCDBG]
OWNER:	Tangipahoa Parish	- 3
BY:	Robby Miller, PARISH PRESIDENT	-

T. P. ORDINANCE NO. 22-36

AN ORDINANCE TO ADOPT THE MILLAGE RATES FOR THE TAX YEAR OF 2022

BE IT ORDAINED by the Tangipahoa Parish Council, the governing authority of Tangipahoa Parish, State of Louisiana, in regular session convened and conducted in accordance with the open meetings law, a quorum being present, that the following millage(s) are hereby levied on all taxable property shown on the official assessment roll for the year 2022, and, when collected the revenues from said taxes shall be used only for the specific purposes for which said taxes have been levied; said millage rates are as follows:

	2022
	Millage
Town of Kentwood	1.52
Town of Amite City	1.52
Town of Independence	
Town of Ponchatoula	1.52
City of Hammond	1.52
General Parish-Wide Alimony Tax	3.05
(Excepting above Inc. Towns/Cities)	
Library Maintenance Tax #1	3.00
Library Maintenance Tax #2	2.81
Health Unit Maintenance Tax	
Garbage District No. 1 Maintenance	10.00
Road Lighting District No. 1	
Road Lighting District No. 2	
Road Lighting District No. 4	
Road Lighting District No. 5	
Road Lighting District No. 6	
Road Lighting District No. 7	
T.P. Fire District No. 2	
T.P. Fire District No. 2	

Sinking Funds:

Road District No.	101 (Kentwood)	2.00
Road District No.	101 Sub 1 (Kentwood)	2.00

BE IT FURTHER ORDAINED that the proper administrative officials of the Parish of Tangipahoa, State of Louisiana, be and they are hereby empowered, authorized, and directed to spread said taxes, as hereinabove set forth, upon the assessment roll of said Parish for the year 2022, and to make the collection of the taxes imposed for and on behalf of the taxing authority, according to law, and that the taxes herein levied shall become a permanent lien and privilege on all property subject to taxation as herein set forth, and collection thereof shall be enforceable in the manner provided by law.

BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon passage by the Tangipahoa Parish Council and signature of the Parish President.

This ordinance having been submit public meeting of the Tangipahoa Parish C submitted to an official vote of said Counc	1 0	
On a motion by a foregoing ordinance was hereby declared a following roll-call vote:		the

Jill DeSouge Clerk of Council Tangipahoa Parish Council	Brigette Hyde Chairwoman Tangipahoa Parish Cou	ncil
INTRODUCED: July 11, 2	022	
PUBLISHED: July 21, 2	022 OFFICIAL JOURNAL Hammond Da	ily Star
ADOPTED BY TPC: July 25, 2	022	
DELIVERED TO PRESIDENT	day of July, 2022 at	
APPROVED BY PRESIDENT:		
VETOED BY PRESIDENT:	Robby Miller	Date
	Robby Miller	Date
RECEIVED FROM PRESIDEN	T: day of July, 2022 at	

AN ORDINANCE AMENDING T.P. ORDINANCE 22-17, CHAPTER 36 – PLANNING AND DEVELOPMENT, ARTICLE V, SECTION 36-113, ITEM (F), NUMBER (1)

BE IT ORDAINED by the Tangipahoa Parish Council-President Government, State of Louisiana, acting as the Governing Authority thereof revises and amends the Tangipahoa Parish Code of Ordinance, Chapter 36 – Planning and Development as follows:

CHAPTER 36 – PLANNING AND DEVELOPMENT

ARTICLE V – STANDARDS FOR DEVELOPMENT OF PROPERTY

Sec. 36-113. General standards for major subdivisions and special use commercial developments

- (f) All structures constructed on new lots in flood zone A and AE as established by adopted DFIRM shall be developed as follows in compliance with the base flood elevation:
 - (1) A maximum of 24 inches of fill from post pre-development grade be placed under the roof-shed area of the primary structure and shall not exceed the volume required to prepare an adequate building footprint pad. The fill shall have a slope steepness between 4H:1V and 3V:1V back slope to the existing grade. The final plat and as-builts plans must include a table detailing maximum allowed height for all lots with fill as defined in these regulations. Elevations shall be taken at the center of each lot.
 - (2) Fill shall not be placed in any side yard, rear yard or front yard setbacks.

BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon signature of the Parish President and all previous ordinances in conflict with said ordinance are hereby repealed.

This ordinance having been submitted in writing, having been introduced at a public meeting of the Tangipahoa Parish Council, discussed at a public hearing of said council and was submitted to an official vote of the Tangipahoa Parish Council. On motion by____and seconded by ____, the foregoing ordinance was hereby declared adopted on this 25th day of July, 2022 by the following roll-call vote:

YEAS:		
NAYS:		
ABSENT:		
NOT VOTING:		
ATTEST:		
Jill DeSouge	Brigette Hyde	
Clerk of Council	Chairwoman	*1
Tangipahoa Parish Council	Tangipahoa Parish Cou	ıncıl
INTRODUCED: July 11, 20	22	
PUBLISHED: July 21, 20	OFFICIAL JOURNAL Hammond	Daily Star
ADOPTED BY TPC: July 25, 20	22	
DELIVERED TO PRESIDENT:	day of July, 2022 at	
APPROVED BY PRESIDENT:		
	Robby Miller	Date
VETOED BY PRESIDENT:		
	Robby Miller	Date
RECEIVED FROM PRESIDENT	Control day of July 2022 at	

AN ORDINANCE REDUCING THE SPEED LIMIT TO 15 MPH ON ROBINWOOD DRIVE IN DISTRICT 6

BE IT ORDAINED by the Tangipahoa Parish Council-President Government, governing authority of Tangipahoa Parish, State of Louisiana, as follows:

1) 15 MPH speed limit signs on Robinwood Drive in District No. 6

in Accordance with Chapter 42, Streets, Roads, Sidewalks and Drainage - Article I, in General - Section 42-19.

BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon signature of the Parish President and all previous ordinances in conflict with said ordinance are hereby repealed.

This ordinance having been submitted in writing, having been introduced at a public meeting of the Tangipahoa Parish Council, discussed at a public hearing of said council and was submitted to an official vote of the Tangipahoa Parish Council.

On motion by_and seconded by _, the foregoing ordinance was hereby declared adopted on this 25^{th} day of July, 2022 by the following roll-call vote:

YEAS:		
NAYS:		
ABSENT:		
NOT VOTING:		
ATTEST:		
Jill DeSouge Clerk of Council	Brigette Hyde Chairwoman	
Tangipahoa Parish Council	Tangipahoa Parish Council	
INTRODUCED: July 11, 20	22	
PUBLISHED: July 21, 20	22 OFFICIAL JOURNAL Hammond I	Daily Star
ADOPTED BY TPC: July 25, 20	22	
DELIVERED TO PRESIDENT:	day of July, 2022 at	
APPROVED BY PRESIDENT:		
	Robby Miller	Date
VETOED BY PRESIDENT:		
	Robby Miller	Date
RECEIVED FROM PRESIDENT	C: day of July, 2022 at	

AN ORDINANCE PLACING 20MPH SPEED LIMIT SIGNS ON MCCAHILL LANE IN DISTRICT 10

BE IT ORDAINED by the Tangipahoa Parish Council-President Government, governing authority of Tangipahoa Parish, State of Louisiana, as follows:

1) 20 MPH speed limit signs on McCahill Lane in District No. 10

in Accordance with Chapter 42, Streets, Roads, Sidewalks and Drainage - Article I, in General - Section 42-19.

BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon signature of the Parish President and all previous ordinances in conflict with said ordinance are hereby repealed.

This ordinance having been submitted in writing, having been introduced at a public meeting of the Tangipahoa Parish Council, discussed at a public hearing of said council and was submitted to an official vote of the Tangipahoa Parish Council.

On motion by_and seconded by_, the foregoing ordinance was hereby declared adopted on this 8th day of August, 2022 by the following roll-call vote:

YEAS:		
NAYS:		
ABSENT:		
NOT VOTING:		
ATTEST:		
Jill DeSouge	Brigette Hyde	
Clerk of Council Tangipahoa Parish Council	Chairwoman Tangipahoa Parish Council	
INTRODUCED: July 25, 20		
PUBLISHED: August 4, 2	2022 OFFICIAL JOURNAL Hammond D	Daily Star
ADOPTED BY TPC: August 8, 2	2022	
DELIVERED TO PRESIDENT:	day of August, 2022 at	_
APPROVED BY PRESIDENT:		
	Robby Miller	Date
VETOED BY PRESIDENT:		
	Robby Miller	Date
RECEIVED FROM PRESIDENT	C: day of August, 2022 at	

AN ORDINANCE PLACING 35MPH SPEED LIMIT SIGNS ON PLEASANT RIDGE ROAD EXTENSION IN DISTRICT 8

BE IT ORDAINED by the Tangipahoa Parish Council-President Government, governing authority of Tangipahoa Parish, State of Louisiana, as follows:

1) 35 MPH speed limit signs on Pleasant Ridge Road Extension in District 8

in Accordance with Chapter 42, Streets, Roads, Sidewalks and Drainage - Article I, in General - Section 42-19.

BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon signature of the Parish President and all previous ordinances in conflict with said ordinance are hereby repealed.

This ordinance having been submitted in writing, having been introduced at a public meeting of the Tangipahoa Parish Council, discussed at a public hearing of said council and was submitted to an official vote of the Tangipahoa Parish Council.

On motion by_and seconded by_, the foregoing ordinance was hereby declared adopted on this 8th day of August, 2022 by the following roll-call vote:

YEAS:		
NAYS:		
ABSENT:		
NOT VOTING:		
ATTEST:		
Jill DeSouge	Brigette Hyde	
Clerk of Council Tangipahoa Parish Council	Chairwoman Tangipahoa Parish Council	
INTRODUCED: July 25, 20	22	
PUBLISHED: August 4, 2	OFFICIAL JOURNAL Hammond D	Daily Star
ADOPTED BY TPC: August 8, 2	2022	
DELIVERED TO PRESIDENT:	day of August, 2022 at	_
APPROVED BY PRESIDENT:		
	Robby Miller	Date
VETOED BY PRESIDENT:		
	Robby Miller	Date
RECEIVED FROM PRESIDENT	· day of August 2022 at	

AN ORDINANCE PLACING 35MPH SPEED LIMIT SIGNS ON DEPHILLIPS ROAD IN DISTRICT 2

BE IT ORDAINED by the Tangipahoa Parish Council-President Government, governing authority of Tangipahoa Parish, State of Louisiana, as follows:

1) 35 MPH speed limit signs on DePhillips Road in District 2

in Accordance with Chapter 42, Streets, Roads, Sidewalks and Drainage - Article I, in General - Section 42-19.

BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon signature of the Parish President and all previous ordinances in conflict with said ordinance are hereby repealed.

This ordinance having been submitted in writing, having been introduced at a public meeting of the Tangipahoa Parish Council, discussed at a public hearing of said council and was submitted to an official vote of the Tangipahoa Parish Council.

On motion by_and seconded by_, the foregoing ordinance was hereby declared adopted on this 8th day of August, 2022 by the following roll-call vote:

YEAS:		
NAYS:		
ABSENT:		
NOT VOTING:		
ATTEST:		
Jill DeSouge Clerk of Council Tanginghas Parish Council	Brigette Hyde Chairwoman Tanaira has Parish Council	
Tangipahoa Parish Council	Tangipahoa Parish Council	
INTRODUCED: July 25, 20	22	
PUBLISHED: August 4, 2	2022 OFFICIAL JOURNAL Hammond	d Daily Star
ADOPTED BY TPC: August 8, 2	2022	
DELIVERED TO PRESIDENT:	day of August, 2022 at	
APPROVED BY PRESIDENT:		
	Robby Miller	Date
VETOED BY PRESIDENT:		
	Robby Miller	Date
RECEIVED FROM PRESIDENT	Γ: day of August, 2022 at	

AN ORDINANCE PLACING NO TRUCK ROUTE AND NO TRUCKS BEYOND THIS POINT SIGNS ON W FONTANA RD AT THE GRAVEL PIT TO E EVANS RD IN DISTRICT 4

BE IT ORDAINED by the Tangipahoa Parish Council-President Government, governing authority of Tangipahoa Parish, State of Louisiana, as follows:

- 1) No Truck Route on W Fontana Rd at the gravel pit to E Evans Rd in District 4
- 2) <u>No Trucks Beyond This Point</u> on W Fontana Rd at the gravel pit to E Evans Rd in District 4

in Accordance with Chapter 42, Streets, Roads, Sidewalks and Drainage - Article I, in General - Section 42-19.

BE IT FURTHER ORDAINED that this ordinance shall become effective immediately upon signature of the Parish President and all previous ordinances in conflict with said ordinance are hereby repealed.

This ordinance having been submitted in writing, having been introduced at a public meeting of the Tangipahoa Parish Council, discussed at a public hearing of said council and was submitted to an official vote of the Tangipahoa Parish Council.

On motion by_and seconded by _, the foregoing ordinance was hereby declared adopted on this 8^{th} day of August, 2022 by the following roll-call vote:

YEAS:			
NAYS:			
ABSENT:			
NOT VOTING:			
ATTEST:			
Jill DeSouge Clerk of Council		Brigette Hyde Chairwoman	
Tangipahoa Parish Council		Tangipahoa Parish Council	
INTRODUCED: July 25, 2	2022		
PUBLISHED: August 4	, 2022	OFFICIAL JOURNAL Hammond	Daily Star
ADOPTED BY TPC: August 8	, 2022		
DELIVERED TO PRESIDENT	:	_day of August, 2022 at	_
APPROVED BY PRESIDENT	:		
	Robby M	liller	Date
VETOED BY PRESIDENT:			
	Robby N	f iller	Date
RECEIVED FROM PRESIDEN	NT:	day of August, 2022 at	

T. P. RESOLUTION NO. R22-16

A RESOLUTION STATING THE TANGIPAHOA PARISH COUNCIL-PRESIDENT GOVERNMENT ENDORCES INTRALOX, LLC (Project # 2022-0224-QJ) TO PARTICIPATE IN THE BENEFITS OF THE LOUISIANA QUALITY JOBS PROGRAM

WHEREAS, the Louisiana Quality Jobs Program, Act 126 & Act 386 was enacted by the 2017 Louisiana State Legislature; and

WHEREAS, the Louisiana Quality Jobs Program offers significant incentives for economic development; and

WHEREAS, the Tangipahoa Parish Council-President Government states this endorsement is in agreement with the Overall Economic Development Plan for the Parish of Tangipahoa; and

WHEREAS, in accordance with the Louisiana Quality Jobs Program requirements, the Parish of Tangipahoa agrees to:

1) To REFUND applicable* local sales taxes on the purchase of the material used in the construction of a building, or any addition or improvement thereon, for housing any legitimate business enterprise, and machinery and equipment used in that enterprise. This tax refund would be on materials, construction and equipment purchased for this project and used by that business

BE IT RESOLVED by the Tangipahoa Parish Council in due, regular and legal session convened this 25th day of July 2022 that **INTRALOX**, **LLC** and **PROJECT NO. 2022-0224-QJ** are endorsed to participate in the Louisiana Quality Jobs Program.

BE IT FURTHER RESOLVED that if any provision or item of this resolution or the application thereof is held invalid, such invalidity shall not affect other provisions, items or applications of this resolution which can be given effect without the invalid provisions, items or applications and to this end the provisions of this resolution are hereby declared severable.

BE IT FURTHER RESOLVED that all resolutions or parts thereof in conflict herewith are hereby repealed.

*Applicable sales taxes are defined as all loca repayment of a Bond issue or dedicated to Al	al sales taxes EXCEPT those that are dedicated NY public school.	to the
On motion by	and seconded by opted on this the 25 th day of July, 2022 by the	_, the
YEAS:		
NAYS:		
ABSENT:		
NOT VOTING:		
ATTEST:		
Jill DeSouge, Clerk of Council Tangipahoa Parish Council	Brigette Hyde, Chairman Tangipahoa Parish Council	

Robby Miller, President Tangipahoa Parish